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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 298 363 398 761
EARI1TH 1,037 1,179 1,282 2,461
mAET2TH 1,208 1,083 1,416 2,499
A R T 2,283 2,349 2,567 4916
BERT1TH 537 537 588 1,125
B ERT2TH 412 421 468 889
B ERI3TH 318 356 338 694
B ERT4T H 527 484 527 1,011
B EBRTSTH 826 905 918 1,823
I ER6TH 367 405 421 826
HiF = HT 551 612 651 1,263
45 KHT 459 527 549 1,076
HHT 1,011 1,135 1,263 2,398
BEHT 53 55 59 114
A K BT 622 730 745 1,475
7 HT 441 450 459 909
RICET 468 511 538 1,049
FORHET 200 199 231 430
RFHT 209 212 248 460
KHET 366 347 385 732
KET1TH 238 248 290 538
XKET3TH 289 343 321 664
XETATH 882 826 1,033 1,859
fit] LLI BT 2,400 2,799 2,886 5,685
JE LT 977 1,113 1,224 2,337
EHERT2TH 305 444 435 879
EHERISTH 435 532 550 1,082
EHERT4TH 382 454 482 936
EHERSTH 334 391 462 853
EHERT6TH 208 280 267 547
EHERT7TH 163 245 253 498
=Y:i 332 342 396 738
8 [F T 1574 1,438 1,673 3,111
=i ET 505 546 619 1,165
2l 3t BT 479 598 572 1,170
N =15 103 118 124 242
L EFHET I 637 650 713 1,363
L EFHTER 852 748 856 1,604
L HAET 1,967 2,179 2267 4,446
LFH¥ABT1TH 74 123 122 245
LE¥ET2T B 156 159 177 336




HEZ HH 5 £ i
LH¥AET3T B 153 151 179 330
LF#ET4TH 162 173 201 374
LHABTS T B 213 267 290 557
I == HT 208 218 242 460
JOSFET1TH 551 527 561 1,088
JNsFET2T H 552 540 565 1,105
JO=fET3TH 422 445 410 855
M=rET4T H 1,099 1,118 1,136 2254
I S5k T 587 609 667 1,276
I=F5di) 228 218 256 474
Jt B BT 30 38 38 76
E[d:) 409 358 347 705
fHZaE T 821 936 998 1,934
FHRHET 79 87 96 183
1 2 FF T 333 381 406 787
BEFE1TH 89 114 128 242
BEFE2TH 286 330 342 672
T EHT 130 146 143 289
/N BB T 3,089 3,157 3,374 6,531
1R T 259 291 311 602
YEZF HT 748 741 815 1,556
EXBI1TH 267 245 279 524
=/ LLIHT 224 164 131 295
Hh ek HT 16 16 5 21
T A EHET 10 13 10 23
THHEE1TH 724 681 719 1,400
THHEE2TH 526 573 567 1,140
THHEESTH 805 832 950 1,782
TEHE1TH 190 192 185 377
TEHRI2TH 811 766 878 1,644
TEHRISTH 166 170 187 357
TEHRI4ATH 92 95 110 205
TEHRISTH 222 241 246 487
T HAET 577 615 650 1,265
TET1TH 359 359 375 734
THET2 T H 462 440 492 932
TH#RBI3TH 201 199 232 431
TET4TH 157 155 185 340
TH#RBI5TH 149 169 189 358
HTAEHET 23 22 9 31
T 194 194 196 390
#8)11 BT 44 45 54 99
KT HT 299 322 346 668
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7B KHT 1,684 1,719 1,886 3,605
FSIED 270 326 320 646
XLAT1TH 851 800 937 1,737
X#ILET2TH 317 345 364 709
X#ILET3TH 148 159 164 323
1 [ BT 49 66 79 145
hHET1TH 365 386 415 801
hHET2TH 457 488 532 1,020
hHBEI3TH 428 513 515 1,028
aiEld:) 260 247 289 536
th 2 JEHT 224 210 247 457
ch T 125 125 163 288
TR AHT 767 877 889 1,766
At FAET 892 893 1,034 1,927
75 K ERET 795 985 1,027 2,012
75 2 [N HET 1,652 1,852 1,981 3,833
JAHT 806 785 888 1,673
$FHET1TH 540 467 538 1,005
$FHET2T H 402 393 452 845
¥FHETST B 205 217 234 451
T 165 218 224 442
HET1 T B 381 480 498 978
HET2 T B 351 372 405 7717
HET3 T B 359 398 442 840
HET4 T B 114 107 136 243
AN ) 993 1,079 1,134 2213
J\ EHHT 162 204 203 407
T 4 BT 253 294 327 621
T A HT 1,838 1,898 2,053 3,951
THB1TH 24 22 21 43
T4HB2TH 1,450 1,384 1,351 2,735
T4HBI3TH 184 167 167 334
T4RBI4TH 371 312 379 691
T4RB5TH 958 701 968 1,669
T4HBI6TH 603 593 644 1,237
THRI7TH 359 390 433 823
T4HBISTH 392 417 432 849
THRBOTH 392 466 511 977
+4RB13TH 310 352 397 749
AR NBHT 1,989 1,734 2,013 3,747
HARRHET 1,332 1,231 1,236 2,467
HARRK/ERET 286 377 389 766
F AR JEHT 166 171 180 351
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HEZ HH 5 = 5
- WNEL] 132 120 132 252
FH AR hHT 201 227 263 490
FHARAKHET 438 465 497 962
& ARl 324 350 385 735
HARE)IIHT 295 275 305 580
=N ] 108 121 135 256
FH AR JTHT 101 95 116 211
EARERHE 677 586 675 1,261
B K BRHET 388 399 405 804
Edsa] 881 894 1,018 1,912
BIERT1TH 767 736 766 1,502
BEFET2 T H 593 602 674 1,276
BEFEISTH 350 412 415 827
AFTET1TH 421 381 430 811
AIFFRT2T B 596 609 666 1,275
AIFTET3T B 604 692 756 1,448
A HT 188 217 201 418
B LH 217 282 296 578
NEL] 802 789 860 1,649
ERL 733 915 919 1,834
= HHT 1,723 1,936 2,031 3,967
HEXHRET1TH 580 652 677 1,329
HETIRET2TH 506 600 644 1,244
HLAREISTH 295 375 375 750
P fx T 318 368 401 769
mERI1TH 1,146 1,127 1,271 2,398
mERI2TH 838 961 1,060 2,021
FA T 1,339 1,402 1,585 2,987
= RITET 529 513 551 1,064
= AHT 343 274 342 616
AR#HT 10 9 4 13
=) 502 578 530 1,108
SHET1TH 713 636 795 1,431
S HET2TH 404 443 472 915
aHEI3TH 865 753 920 1,673
S HET4TH 771 647 858 1,505
E& T 1 1 0 1
J\BRET1TH 210 273 266 539
J\BRET2T B 216 232 232 464
J\BRET3T H 242 291 304 595
1T HT 289 431 418 849
FHeEIBRT1 T H 161 198 204 402
FHREIBRT2TH 303 438 468 906
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HH 5 £ it
FIEIBISTH 102 168 165 333
EOER1TH 28 43 40 83
EOER2TH 0 0 0 0
FENOERITH 24 21 3 24

88,394 | 92546 | 100,300 | 192,846
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